Provisional Answer Key for CG — EE24 (Group-2) (Set-D)

Question No.

Answer Key
C

Question No.
51

Answer Key

52

33

54

35

56

a7

58

59

60

61

62

63

64

65

66

67

s | ok | o | ok | ok | ek [ ek | ok | ok [l
wlo(Nloo|s|lw|n|=|o|@ NG O] &IW R -

68

%
o

69

(A%}
-y

70

]
I

71

%)
a2

72

n
-

73

]
n

74

[
8]

75

(A}
=]

76

]
0o

i §

[\
w

78

G
o

79

(%]
iy

80

G
Mo

81

%)
a2

82

a2
=

83

Cad
on

84

Cad
(8]

85

]
|

86

Cad
oo

87

a2
{n)

88

B
o

89

.
—

90

B
M

91

B
G

92

e
B

93

o
on

94

£
o

85

o
|

96

97

s
oo

£
W

a8

tn
o

OO0 00> > >>00000>>000ROCOX0E2=0>X>0X>2 2000000000000 0OO0O0

g9

100

QO|P|IPIDOO0|>»O0PPIO0OOIOORODDDDO|PIO0PIOQ000(OCIOROOCIO|IO|X IO 0| 2>00|»0|0(0

(¥ Scanned with OKEN Scanner



